Name

Enrichment

Multiplication Match

Draw lines to match each expression in the first column to the
expression or model that represents the same problem in the
second column. Then draw a line from the second column to the
product in the third column.

5-3

1.

2 X 23

Y eooo
D oooo
Y eoao
Y eoao
Y eooo

120

. 3 X231

(6 x10) + (6 X 9)

452

. 3 X 18

D 9606

D 9606

D 9606

faaaD 860

117

. 4X18

(8 X 200) + (3 X 30) + (3 x 1)

234

. 5X24

D s09
D o000
D eoo
S o000
S o000

48

. 6 X 39

(3 X 30) + (3 X 9)

68

4 X 17

ammnD 600000600
Dy 606060600060
anD 660600606060

72

4 X113

(4 X 10) + (4 X 8)

115

. 3 X 39

114

10.

5 X 23

(2 X 20) + (2 X 4)

693

11.

2 X 24

faaD 060060060
faaD 060060060
D 0009009060

46

12.

6 X 19

ran 60000000
(6 X 30) + (6 X 9)

54
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